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$QDOLVLV�3HQHWDSDQ�WDULI�NDPDU�SDGD�+RWHO�5DQDK�%XQGR�+HULWDJH�

PHQJXQDNDQ�PHWRGH�&RVW�SOXV�3ULFLQJ SHQGHNDWDQ�)XOO�&RVWLQJ

2OHK���5HJLQD�$QDQWDV\D�

.RWD� SDGDQJ� PHUXSDNDQ� VDODK� VDWX� NRWD� WXMXDQ� ZLVDWD� 1DVLRQDO� \DQJ�

PHPLOLNL� NHUDJDPDQ� REMHN� GDQ� GD\D� WDULN� ZLVDWD�� EDLN� LWX� ZLVDWD� VHQL�� ZLVDWD�

EXGD\D�� ZLVDWD� VHMDUDK�� ZLVDWD� EHODQMD�� GDQ� ZLVDWD� NHUDMLQDQ�� $NLEDW� DGDQ\D�

NHUDJDPDQ� REMHN� ZLVDWD� LQLODK� \DQJ� PHQ\HEDENDQ� EDQ\DN� WXULV ORNDO� PDXSXQ�

PDQFDQHJDUD�\DQJ�GDWDQJ�NH�NRWD�3DGDQJ XQWXN�EHUZLVDWD��6DODK�VDWX�XQVXU�\DQJ�

GLDQJJDS�SHQWLQJ�DGDODK�SHQ\HGLDDQ�VDUDQD�SHUKRWHODQ��

0DVDODK� \DQJ� GLKDGDSL� SHUKRWHODQ� DGDODK� SHQHQWXDQ� WDULI� NDPDU� \DQJ�

EHOXP� PHQFHUPLQNDQ� ELD\D� VHEHQDUQ\D� ROHK� PDVLQJ�PDVLQJ� MHQLV� NDPDU� \DQJ�

GLWDZDUNDQ�� 2EMHN� SHQHOLWLDQ� LQL� DGDODK� +RWHO� 5DQDK� %XQGR� +HULWDJH� \DQJ�

EHUORNDVL� GL� .RWD� 3DGDQJ�� 7XMXDQ� GDUL� SHQHOLWLDQ� LQL� DGDODK� PHQJKLWXQJ� GDQ�

PHQJDQLOLVLV�SHQHQWXDQ�WDULI�NDPDU�GHQJDQ�PHWRGH�&RVW�3OXV�3ULFLQJ SHQGHNDWDQ�

)XOO�&RVWLQJ��3HQHOLWLDQ�LQL�PHUXSDNDQ�SHQHOLWLDQ�VWXGL�ODSDQJDQ��GHQJDQ�GDWD�GDWD�

\DQJ�GLJXQDNDQ�GLSHUROHK�GHQJDQ�FDUD�REVHUYDVL�GDQ�ZDZDQFDUD��+DVLO�SHQHOLWLDQ�

LQL�PHQXQMXNDQ�EDKZD�WHUMDGLQ\D SHUEHGDDQ�KLWXQJDQ�DQWDUD�WDULI�\DQJ�GLWHWDSNDQ�

KRWHO� GHQJDQ� WDULI� \DQJ� GLKLWXQJ� GHQJDQ�PHWRGH�&RVW� 3OXV� 3ULFLQJ SHQGHNDWDQ�

)XOO�&RVWLQJ��

.DWD�NXQFL ��3HUKLWXQJDQ�WDULI�NDPDU�KRWHO�PHWRGH�FRVW�SOXV�SULFLQJ��


